Tvpes of expenditure

Kate runs a gift shop called ‘Candy and Cards.

Which two of these items are examples of her expenditure?
Put a cross in the box next to the two correct statements. ' (2 marks)

B/Buying cards to sell

D Sale of sweets

A

B

C Wages for an assistant

D D Interest on money in a savings account
E

l:l A bank loan for an extension

Tom runs a key cutting business from a kiosk in the town centre.

(Suggest two items of expenditure that he will have. (2 marks) J

Jasper has heard the term‘overheads’ being used but does not know what this means.

Eutline what this means for him. (1 mark)J

Overheads are the everyday [onDNG (OSYSof a business. When you are asked to

outline something, you should
give a short definition.
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Understanding and calculating
profit or loss

N
Choose one of the words from the box below to complete the formula for calculating
profit. (1 mark)J
Profit = (LQA) [7ANY SR — Expenditure If you are not sure of the answer, first A

try to find words that are connected
to something else. For example,
outflows are linked to cash flow, so
you know that is not the right answer.
S

Overheads Fixed costs Revenue
Total costs Outflows Variable costs

2 Last month Ken's business had an income from sales of £30,000 and expenditure of £25,000.

Use the formula to calculate his profit/loss figure.

Show whether this is a positive figure (a profit) or a negative figure (a loss). (1 mark)
........ 20,4000, 7. 22.1000.. 7. £2.000. 0 LOEN b

3

A business wants to increase its profits. Describe how it can do this. (4 marks)

[t can increase revenue. This means l\’vQ)(/\ ..... OSSN c —
) ive a short description

NO@ . HV{V\ . MS LLOf GW Soﬁ)f&fs ....... of a few sentences

without going into detail.
................................................................................... [t can reduce going
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These actions will help it to increase profits because revenue and wmv\y‘@ ________

are both used to calculate profit. The greater the revenue received and the lower the




